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Chotce Raned

(Time: 3 Hours) S {TotaIMarksso]

N.B.: (1) Question No. 1 is Compulsory.
(2) Attempt any three questions from the remaining five quesncins
(3) Answers to sub-questions should be grouped and wntten tOgeﬂler

Q.1 (a) What is constructor and destructor? Wrrte a program to 1mplement concept of‘ ;:0
constructor overloading.
(b) What is template? Write a program to create functron template swaps( ) that-' 10
interchange value of two argument&sent to it. Write a maln(} program to exerclse
the function with several data types hke mt, ﬂoat and cha.r ~

(a) Explain basic concepts of object onented progra:mmmg What advantages OOP 10
offers to the programmer and the user‘? R EE ol & il g
(b) Explain the concept of DN N SRR S 10
i) explicit and mutable keyword o
i1) constant p pomter and p()mter to a constant

t2) Whatis dynarmc bmdmg‘? How 1t is melemented explam with suitable example. 10
{d) Whatare dlfferent ﬁle opemug modes‘? Wnte a program to read and write an obj ject 10
to a file. : 4

(z2) Whatis operator overloadmg? Wnte a program to Overload pre and post increment 10
operators

() Explain exceptton handhng mechamsm m CH- wrth suitable example. 10

12) What is mhentance‘? Explam the use of protected modifier in inheritance with 10

7 suitable exam;)le _
) E.xplam the use of statrc data members and methods with a suitable example. 10
Write short notes on any four -- 20
(a) STL S

(b) Dynamrc mernory allocatron
(c) Bltwlse operators in C++
(d) Inline function

(e) Static and dynamic cast
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1. a)
b)
2. a)
b)
3. a)
b)
4. a)
b)
Y
b)

Short Note (any 4 out of 5)

S0 ;f,.~f. b) FAST ¢

) 'Pro;ect Charter Bl

- d) 3Rof software engmeermg
S e RAD mcdel ;

[Time: - 3 Hours] VA s [Marks 480]4'

Please check whether you have got the right questlon ;Japer
N.B: 1. Question No. 1is compulsory. \ S
2. Attempt any three questions from rema:nlng flve questjons

Explain Spiral model in detail.
Explain Project Life cycle.

What Extreme programming and Scrum.
Explain the outsourcing and its type.

Assume that the size of organic type s/w pro]ect has been estlmated to be 35 KLOC

The Avg. Determine the effort requlred to develop the s/w product & development time,
average staff size and productlwty forall three modes SR

Organic (al=2, a2=1.05, b1 = 2.5, bz 038), semi- detached (a‘l 3 0 a2 1 12 b1 255, b2 =
0.35) Embedded (a1 =3.6, a2 = 120 bl 25 b2= 032)

What is structure chart? Expialn the transactlon analyms’ S

Explain the Facilitating areas of Pr01ect Management
Explain the structured walkthrough in detalt'? e

Explain software reluabnhty metrlcs in detall
Consider a prolect WIth follovw ng funct!onal units
No. of user mputs 50 ‘
No. of User outputs 40

No. of User lnqmnes 35

No. of User f|[es 06 -

No. of External rnterfaces 04

,?Assume all CompIe.xlty adjustment factors and welghtmg factors are average.
;.Compute the Functlon pomt for the pro;ect

_a} Stakeholder Management
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Note (1) Question No. 1 is compulsory.

Ql.

Q2.

Q3.

Q4.

(2) Attempt any three out of remaining five questions.
(3) Answer to sub-questions should be grouped together.

(@)

(b)
(c)

(d)
(a)

(b)
Module.

(a) Discuss4tol multlpleXe? & kto
its implementation | using the appropriate gates.
(b) Explam d;ffegenf types of’ i)arallel px;ocessm ;

(a) Expimn_DMAiqchmquem\detaxl W1thth 1
cycle*steahng %

- Defin

What is I/0 modulsé? ‘Expl’

(3 Hours)

sc@ he n cmery»Exp}m caehe bngamzatxon in detail.
Whaf ar“é icy

i-Assomatwg Memory
nterrupt driven I/O technique
Asyn&hronous counter
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(3 Hours) ' fTetal~‘Marks: -80_]: _

Note:
1)  Question No. 1 is compulsory. o Qe R
2)  Attempt any Three Question between Questlon No 2 to 6
3)  Figures to the right indicate marks. ol

Q.1 Write a Short Note on Following (any 4) . RS P S 20
1. Outsourcing ' (e
2. Technology Acquisition
3. Business in Digital Economy
4. Ethics and Information Technology i
5. M- Commerce )
6. Current Trends in -IT
Q.2 a) Explain Roles of IT m E—commerce and M-commerce‘? SIS 10
b) What is Value Cham as per Mlchael Porter'? 5 JEHOEOES 10
Q.3 a) How should managers mtroduce orgamzatlonal changes that employ 10
technolo R : s -
b) Deﬁne Data Informatlon and knowledge w1th an example
Q4 a) Explam E—gevemance w1th sultable example‘? o 10
33 ;b) What is Orgamzatmnal ﬂex1b111ty‘? Explam how technology helps in 10
e strengthenmg the orgamzation S
Q,5 a) How techneiogy can be used to gam a strateglc competitive Advantage? 10
_-b) Explaln lnternatlonal busmess strategles with example 10
Q6 a) Explam Role of Informatlon system in business today 10
S "..b) Explaln ethlcs and IT 3 & 10
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#lsem-~-T Paper / Subject Code: 56004 / Statistics and Probability | May ~2019

Choice basec) .

[Time:3 hours] S8 '_ ‘3\,: A5 o ¥ . | Marks:80]

Please check whether you have got the right questlon paper
N.B: 1. Q.1 is compulsory
2. Attempt any three from remaining five questions. -

3. Answers to sub questions should be written together
4. Use of scientific calculator is permitted.

© a In4tosses of a coin, let X denote number of heads. Fmd the possxble outcomes and ﬁnd the expectat:on of 5

X £

b. The number of hardware failure system in a week of operatlon has the follemng pmf o S 5 :
No. of 0 1 2 3 S S S0 ) e i ey
failure 3 7 R = :

Probability | 0.18 | 0.28 | 025 _0;1_8_, :'0;'0;_6'3“-03;04;':;0.‘0-1_”

1) Find the expected number of fallure ina Week

ii) Find the variance of the number of failure in a week. ;
¢c. The mean and standard deviation of 200 items are’ found to be 60 aud 20 At the time of calculationstwo 5

items are wrongly taken as 3 and 67 instead of 13 and 17. Fmd the correct mean and standard deviation,
d. Calculate the modal marks for the following R e . 5
Marks 10- | 30- | 50- | 70- | 90- - 110- SO ~
30 50| 70 |90 | 110 | 130
No. of s e 18 FE V155 B -t R T ST
Students S Sl SN SO i) S 3
2 a. Theranks of the some 15 students in two subjects A and B are gwen below Use spearman formula to find 10
the rank correlatlon coefﬁelent _ , et
Rankm S S '4 1-5 ¥ 56 7 8 9| 10 I1] 12| 13| 14| 15
Rankm A _;-7- 26 458 43' L1 15) 9| 5| 14| 12] 13

y Test the conmsteney of the followmg data w1th the symbol having their usual meaning; 5
N=60 (AB)=25 (A)=51 (B}=32 .
The Joint probablhty density ﬁmction of the two dimensional random variable (X,Y) is given by 10
Fy8Oy, s
B otherw:se

: a)Fmd the margmal densities of X and Y2
b)Find the conditional den51ty function of Y given X=x and conditional density function of X given Y=y.
The mean week]y sales of chocolate bar in candy stores were 146.3 bars per store. After an advertising 5
campaign the mean weekly sales in 22 stores for a typical week increased to 153.7 and showed a standard
. de\riatlon of 17.2. Was the advert1smg campaign successtul?
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Paper / Subject Code: 56004 / Statistics and Probability

4 a The following distribution gives marks of 100 students. ST < ARSI
Marks 0-10 10-20 20-30 | 30-40 | 40-50 50-60 | _\_60;-?0; 70-—80 ok ' e &

Noof | 5 g 7 2 | 2 | 20 ] 10 'j'r,o;

students Gxtdpre R fdils
Find all quartiles and the coefficient of quartile deviation. Use 1t to deteﬂmne Bowley s Coefﬁc1ent of
skewness. el :

b. From a city population, the probabtltty of selecting (1) a male ora smoker lS 7/ 10, (u) a male srncker 82055
and (iii) a male, if a smoker is already selected is 2/3 Fmd the probabthty of selecttng (a) a non-smoker (b)
a male, and (c) a smoker, if male is first se]ected 5 : .

5. a. From the data given below find: R OV e Ve PN e 10
1) Regression Coefficient bxy and byx o & :
i) Two regression equations xon'y and y onx ‘
iii) The coefficient of correlatton between the marks in Fconomtcs and Stattsttcs
Marks in |25 |28 35 32 31 36 29 5%
Economic ' 5 K

Statistics o S B U I

b. The number of scooter acadents per month in a certam town were as fol]ows 5
12,8,20,2,14,10,15,6,9.4 i

Are these frequenctes in agreement w:th the behef that acctdent condltlons were the same during this 10

months period? [ Given : chi-square value at 5% lcvel of sngmﬁcance at 9 degree of freedom is 16.916]

5 a. Whatis the probaballty that 4A° s come consecutwely in arrangements of the letters in the word 5
‘MAHARASHTRA’ 7 S
b. Find if A and B are mdependent pomtwely assoctated or negattvely associated: 5
N=1000, (A)‘—‘470 (B)=620 and (AB)=320
c. SuppOSe A and B are events w1th P(A) 0 6 P(B) 0 3 and P(A N B) = 0.2 Find the probability that 5
i) Adoesnot oceur -
. 11)‘ B does not occur &
1T e "AorB nccurs AR
GBS Nelther A nor B occurs :
! IfX 1s a random vanable anda b are constants then prove that V (a X + b) = a2 V(x) 5
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